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Math 2D Quiz 3 Evening - October 13th
Please put name on front & ID on back for redistribution!
Show all of your work. *There is a question on the back side.”
1. (a) [5pts] Let @, b be two vectors in R®. Define Orth ; b, by
Orth a g: 5— P?‘Gj i g

Show that de Orth gz 0 and that a x Orth 3 h=axb.
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(b) [5pts] Determine if the following four points lie on the same plane:

A= (1:2:3): B = (21315); = (—1?5:—3): 1) = (—330:—9)_ ( +:})
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2. (a) [6pts] Find the equation of the plane which passes through the points (0. —2.5), (—1,3.1)
and is perpendicular to the plane 2z = 5z + 4y.

<We say plane 1 is perpendicular to plane 2 if plane 1 contains the normal vector of plane 2. + f
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> Sordor plowe 1, SX*4y-22=0 , T nomal (< 54, -2
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Using  pod B —>  Equ iS/*é(ﬁ**FJ-E?{3*3}+ 29(2-1) = o
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(b) [4pts| Find the equation of the line through the point (1,0,6) which is also perpendicular to
the plane z + 3y + z = 5. |
— P e ™ __; : gt ; j - .
L.-} Il = < / 2,' / ( P, SO +(/"'-': [ Tfi"‘{ ;””’“EJ % f!é'?{.“,!;"%'.‘;';
! . [~ ; ~ ’ 4 Ed 3
§@ ; Ouy \\ AL G,f{__h | S ‘q ( ‘” = <10.C 7 L Cp#Fpa

e

=4
Pa
1
|
e
1
N
i.
o>
P
=
":a-
W
-
T
‘-\_//




